## Estimating Partial Derivatives

## Estimating Partial Devivatives

Estimating	One Varible	Two Variables (1)	Two Variable (x)
Forward Difference	$f(x) = \frac{f(x+n) - f(x)}{n}$	$f_{y} = \frac{f(x, y+h) - f(x, y)}{h}$	$f_{x} = \frac{f(x+n,y) + f(x,y)}{n}$
Backward Difference	$t_{(X)} = \frac{p}{t_{(X)} - t_{(X-P)}}$	$f_{y} = \frac{f(x,y) - f(x,y-h)}{h}$	$f_{x} = \frac{f(x,y) - f(x-h,y)}{h}$
Central Difference	$f(x) = \frac{f(x+h) - f(x-h)}{2h}$	$f_{Y} = \frac{f(x, yth) - f(x, y-h)}{2h}$	$f_{x} = \frac{f(x+n,y) - f(x-n,y)}{2n}$

## Example:

1. A two-variable function f(x,y) has selected values given by  $\frac{yx}{2.5 3.0 3.5}$ -1.0 6.0 6.5 8.0 -1.5 6.5 7.0 8.5 -2.0 5.8 6.9 7.8

(a) Write down three estimates for the value of  $\frac{\partial f}{\partial y}$  (3.5,-1.5). State what estimates they are.

 $\frac{\text{Central difference} : \frac{1}{24} [f(x,y,m) - f(x,y-m)]}{\frac{2f}{34} (3.5,-1.5) = \frac{1}{24} [f(3.5,-1.0) - f(3.5,-2.0)] ; 0y = -1 - (-2) = 1}{= 1 [8 - 7.8]}$  = 1 [0.2]

Forward difference:  $\frac{1}{24} [f(x,y+h) - f(x,y)]$   $\frac{2f}{24} (3.5, -1.5) = \frac{1}{44} [f(3.5, -1.0) - f(3.5, -1.5)]; 0y = -1 - (-1.5) = 0.5$   $= \overline{0.5} [8 - 8.5]$  = 2 [-0.5]= -1

Back	ward	l di	ffer	enc	e : '	r0	(f(	XIY	) - {	F(x,	y-h	2										
<del>2f</del> (3	3.51.9	5)=		[f(3	.5	1.5	) - !	F( 3	5.5	-2	0)]	:	D	V=	-1.5	- (	- 2)	= (	0.5			
	,		0.5	[8.	5-7	.g7											Ĭ					
			26	0.7]																		
		11	1.4																			

()	E	sti	ma	te	<u>ət</u>	(3	.5.	-1.5	).	Wł	hick		lid	NO	นเ	lse	?												
	W	e c	an	on	ly_	00	k	ba	ck	wa	rds	:																	
	26				-	1																							
	37	<del>.</del> 13	.5,	-1.5	5)=		7 [1	F(3,	5,-	- .5	) - {	F(3	.0,	-1.5	)]	;	1	x =	3.	5-3	3 =	٥٥							
						$\frac{1}{0.5}$	5[	8.5	-7	]																			
						0.5	1.0	7					-																
							. 1.3	27																					
					8	3																							
Pa	rt	b	סר	sin	ts	014	+ 0	li	mi	ta	tio	n	or	P	ack		f	the	se	P	sti	ma	atic	m	5.1	he	5		
re	qu	ire	n	nul	ħγ	ple	da	ato	P	oir	nts	0	nd	d	ato	to	, bl	es	ar	е	of	ter	n	ot	in	fir	nite		
Eo	ch	CO	orn	er	έ (	edg	e	wil	1 2	be	lin	nit	ed	in	L	she	at	es	tim	nat	e	lor	хC	an	da	<b>)</b> .			
				X				,				K	no	e:	if	NO	u	car	<b>i</b> +	do	fo	rw	ard	¢ )	Dad	:Ku	sarc	ls	
			4		<u> </u>	^1	,	^z		•3					40	su	car	11	do	C	ent	ra							
				٩,								to	p li	ne	: Ur	nat	le	to	dc	> b	ac	Kw	201	d	Ч	lne	eds	- <b>\</b> 0	<u>}</u>
				12								bo	sthe	3m	lin	e:(	ino	ble	to	do	for	rwa	ard	Y	(n	eed	s y	ч)	
					┝				$\vdash$			ri	ah	Lsi	de	1 683	nal	ماه	to	d	2	orli		d 5	(	ner	ədc	×'	>
				3									<b>9</b> 11											<u>ч</u>				~4	
												le	64	sid	e٠	un	ab	le	to	do	b	ack	<u>(w</u>	arc	x k	(r	leec	ls :	(م)
	to	p	ef	ł	CO	rne	r:	un	abl	e -	6	นร	e	ba	cki	war	rd	N	an	ď	bac	:Kı	Sai	rd	x				
	لمل		iak	7	0.0				ah		لم			ba			cd						rd	~					
	TO	r q	191			rne		ur		e	то	ue	e	Dai	CKI	Na		γC	ANC		OYI	Sa		X					
	ba	ttc	on		ef	+ (	cor	ne	Y:	UY	nal	ole	. 1	0 (	do	fc	YU	Sar	d	70	no		00	cK	wo	ird	X		
	ba	1+	ow	n r	ial	nt	CC	or r	ner	•	ur	ab	ole	to		0	fo	rw	ar	d		and	łfi	ori	Na	rd	X		
					3																								

## Exit Ticket Partial Derivatives

**Partial Derivatives** A derivative asks how much does y "moves" when we vary x. Partial derivatives are the multi-variable version of this process.

- $\frac{\partial}{\partial x} [f(x,y)] = f_x$  = take the derivative with respect to x while keeping y constant
- $\frac{\partial}{\partial y} [f(x,y)] = f_y$  = take the derivative with respect to y while keeping x constant

Find all four partial second derivatives  $f_{xx}$ ,  $f_{yy}$ ,  $f_{xy}$ ,  $f_{yx}$ :

1. 
$$8xe^{6x-y^2}$$
  
 $f_x = 8e^{6x-y^2} + 48xe^{6x-y^2}$   
 $f_{xx} = 48e^{6x-y^2} + 48xe^{6x-y^2}$   
 $f_{xx} = 48e^{6x-y^2} + 48xe^{6x-y^2}$   
 $f_{yx} = -2xye^{6x-y^2} + 44xye^{6x-y^2}$   
 $f_{yy} = -2xye^{6x-y^2} + 44xye^{6x-y^2}$   
 $f_{yy} = -2xe^{6x-y^2} + 44xye^{6x-y^2}$   
 $f_{yy} = -2xe^{6x-y^2} + 44xye^{6x-y^2}$   
 $f_{xy} = f_{yx} = -16y^2e^{6x-y^2} - 96xye^{6x-y^2}$   
 $f_{xy} = f_{yx} = -16y^2e^{6x-y^2} - 96xye^{6x-y^2}$   
 $f_{xy} = f_{yx} = (5x^2-y)^{-1}$   
 $f_{yy} = -(5x^2-y)^{-2}$ .  $10x$   
3.  $\cos(3x)y^2$   
 $f_{x} = -3\sin(3x)y^2$   
 $f_{x} = -3\sin(3x)y^2$   
 $f_{x} = -9\cos(3x)y^2$   
 $f_{x} = -9\cos(3x)y^2$   
 $f_{xy} = 2\cos(3x)$   
 $f_{xy} = -2\cos(3x)$   
 $f_{xy} = -2x^{-2}$   
 $f_{yy} = 0$   
 $f_{xy} = f_{yx} = 4yx^{-3}$